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Kanile

FRITZINAS MyFRITZ!

EuroDOCSIS 3.0 Kansle

Empfangsrichtung
Kanal 1 2 3 4 [ 6 T 9 10 1 12 13 14 15 16 14 18 19 20
Kanal 1D 1 3 4 s 6 7 8 10 n 13 17 21 25 27 28 29 30 31 32
Frequenz [MMHz) 138 154 162 170 178 186 194 210 218 234 266 298 602 626 642 650 658 666 674
Modulation 256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM  256QAM
Power Level [dBmV] 64 60 6.1 59 6.0 62 63 6.1 58 45 37 30 08 0.6 -1.0 19 20 2.0 2.7
MSE (d8) 40.9 40.4 40.4 404 404 404 40.4 40.4 40.4 40.4 40.4 38.6 39.0 39.0 386 386 386 39.0
Senderichtung
Kanal 1 2 3 4
Kanal 1D T 8 6 s
Frequenz [MHz) 458 362 522 586
Modulation 64QAM 32QAM 16QAM 32QAM
Multiplex-Verfahren ATDMA ATDMA ATOMA ATDMA
Power Level [dBmV] 455 455 46.0 46.0
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